CERN



PC

e ICEPP-CERN  |ICEPP-KEK



e lperf 1.7.0
to TCP/UDP)
* Bbftp 3.0.1
to (TCP)
e NistNet 2.0.12



| CEPP-CERN

e RTT 300ms
. Firewall

e |CEPP PC: Dud Intel Xeon 2.40GHz

(HT=off) ,Linux 2.4.20

 CERN PC: Dual Intel Xeon 2.40GHz

(HT=off), Linux 2.4.20

1Gbps

Univ. of Tokyo
Gbps x 2

L g SuperSinet

5Gbps
NII NewY ork
2.5Gbps

Geant

ICEPP — CEEI ETT ~ 300 tms

ICEPP

CERN



Butes per Second

| perf | CEPP-CERN, kernel2.4)

Kerngl 2.4.20

UDP 906M bps(5% packet |0ss)

TCP 171Mbps(30
wslze 256kB, 160

)

[UDP] 17:00-17:30 option: -b 1000MB -w 256KB
[ ID] Interval Transfer Bandwidth Jitter Lost/Total Datagrams

[ 3] 0.0-1095.5 sec 116 GBytes 906 Mbits/sec 0.015 ms
4723300/89157875 (5.3%)
[ 3] 0.0-1095.5 sec 134933 datagrams received out-of-order

[TCP] 11:00-16:30

[ ID] Interval Transfer Bandwidth Option

[SUM] 0.0-1202.7 sec 645 MBYytes 4.50 Mbits/sec -P 4 -w 256KB
[SUM] 0.0-1203.3 sec 1.13 GBytes 8.04 Mbits/sec -P 8 -w 256KB
[SUM] 0.0-1215.0 sec 2.35 GBytes 16.6 Mbits/sec -P 16 -w 256KB
[SUM] 0.0-1219.9 sec 5.17 GBytes 36.4 Mbits/sec -P 32 -w 256KB
[SUM] 0.0-1230.9 sec 8.30 GBytes 57.9 Mbits/sec -P 64 -w 256KB
[SUM] 0.0-1860.0 sec 30.2 GBytes 140 Mbits/sec -P 128 -w 256KB

[SUM] 0.0-1860.2 sec 37.0 GBytes 171 Mbits/sec -p 160 -w

[SUM] 0.0-1843.7 sec 27.6 GBytes 129 Mbits/sec -P 128 -w 128KB

] [SUM] 0.0-1850.1 sec 27.2 GBytes 126 Mbits/sec -P 128 -w 64KB
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| perf | CEPP-CERN, kernel2.6)

e Kerng-2.6.0-test11

« TCP 634Mbps(10 , WSize
8MB, 28 )

Max Speed: 125.0 MBytes/s

-w 4MB -P 12 [SUM] 0.0-304.5 sec 12.3 GBytes 347 Mbits/sec
The statistics were last updated Monday, 5| -w 4MB -P 16 [SUM] 0.0-305.2 sec 14.4 GBytes 406 Mbits/sec
at which time "Summit5i' had been up for § -w 4MB -P 24 [SUM] 0.0-308.4 sec 19.5 GBytes 542 Mbits/sec
-w 4MB -P 30 [SUM] 0.0-312.0 sec 17.7 GBytes 489 Mbits/sec
-w 4MB -P 24 [SUM] 0.0-612.2 sec 38.2 GBytes 537 Mbits/sec

-w 4MB -P 28 [SUM] 0.0-611.6 sec 45.2 GBytes 634
—| Mbits/sec

"Daily' Graph (5 Minute Average)
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6e.0 M

L -w 4MB -P 32 [SUM] 0.0-622.6 sec 43.7 GBytes 603 Mbits/sec

46,0 M | be
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Max In:2081.6 kBfs(1.7%) Average In:459 kB/s (0.0%) Current In:0.0 Bfs (0.0%)
Max Out:88.4 MB/s(70.7%) Average Out:1943.4 kB/s(1.6%) Curmrent Out:441.0 B/s (0.0%)



| CEPP-KEK

« RTT 3ms

. ICEPP PC1: Dua Athlon MP 2000+
| CEPP PC2: Dual Pentiumlll 1400MHz
| CEPP PC3: Dual Xeon 2.80GHz (HT=0n)
KEK PC1: Dual Xeon 2.80GHz (HT=0n)
KEK PC2: Celeron 1.70GHz
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| perf | CEPP-K EK)

 UDP 950Mbps

o TCP wsize=256k, 479Mbps
« TCPwsize=8M, 922Mbps
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Disk to Disk throughput (bbftp TCP)
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e CERN KEK
|perf single
connection

e Multi connection

Iperf single connection(kernel 2.4.20)
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| CEPP-CERN(rtt=300ms)

UDP 900M bps,
TCP170Mbps(kernel2.4)/630M bps(kernel 2.6)

| CEPP-KEK (rtt=3ms)
UDP 950Mbps, TCP 920M bps
880Mbps
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